% 8 4 M HASHFEREFHKABRRRE

LETHREERRT—IL

ARA—FYR B
#HHENo. 74 BF 800m ZJU—UYL— FE T# EiXEgsx 7:18.59
_ £58%  7:23.02
K F—LA m = k& FE
i
148
0 /MERIE tiEE 1045 UM B4 Wy vay =2
Y WELEURD] =R 1044 #H KE 97 84y =3
1046 [iiz) | £ vth M 22
1043  /MNER 1K 497 19 =
1 ZEZ F 8027 Al K& Y307 Eop =2
ap Y =15 8024 gl EE 307 THY 23
8026 t=H ZEth 795 4yx =3
8023 MR MA Ab 9% Yanrk =
2 BRI= & N 8006 & Eh WA VT 51
ahvyany’ =15 8003 fMHE ZREH 95 442k =2
8001 &EH fE M2 ) =2
8002 {ERKEE #E Y13’ =
3 TiiZH| L B 7068 TR EEHRC aF vk =2
FEL] =15 7067 FRR /R 793 Ut =2
7069 EEF HEE N/ Y1y =1
7070 BA £X Y34y 4hen =1
4 EriE * W 3008 FA HIA % JUEd =2
hAZH 97 =15 12 L e Ent 7 v% =2
3009 {ERE b ¥9 Edl 22
3011 i =2 /L7 1%7% 51
b JNFIXK— F & 2008 HIE 18 I+ THE =3
195" 4472 =15 2005 &S iE 4y ERl =3
2010 pkH s 5 19t =1
2009 REIE fHE 19v39 Iy =1
6 HIERR B W 2040  ¥E¥F EBL Y 49r =1
a4y =15 2038 FKiE MEA THY 7 1%tb =3
2039 BiE £ 491y E0L =1
2037 EE A8 BNy 2919 =3
7 B & W 7027 A § YT APH =3
VAEED] =15 7028 KiF ¥ tyh 39 =3
7030 7 $#HAKE -y 194m9 =
7029 fEE #X 7993 hvh =3
8 it Z OB 8056 fElLl XHIE N TUE4 =3
EVAGEL R =R 8061 Bk =2 291" Yantq =1
8060 S s 139739 493 22
8059 EE T N7 Yaoakr =2
9 TIKEE tiEE 1057 B+ @Mt 7V L7 Ty =3
pYIv{ant =R 1055 #3H % #9534 1)av =3
1056  P9FH&EESN £yZ19 H4AF =3
1058 A &% FVED N4 B2
Page: 1/17 Printing: 2016/08/20 11:37:19

SEIKO



% 8 4 M HASHFEREFHKABRRRE

LETHREERRT—IL

ARA—FYR B
#HHENo. 74 BF 800m ZJU—UYL— FE T# EfkEeex 7:18.59
_ Lk 7:23.02
K F—LA m o= k& FE
i
248
0 ZFHRZE = = 5184  #hiL ##k L%V 19% =3
Y8 hhLy =R 5182 it XK— Thh3 44 =3
5187 #ME #HN VLYY, =1
5185 dJtH =X 7 194 =2
1 ERBRR BRE 9086  AIEF REA 19/ gk =
VAEDT Y] = 9084 Hixt KiE 1DE 440° =3
9082  # BE MY k393 =
206 BT ®RAE NOZE Vel =2
2 BHKRETE A 5069 ERIFEES) /4% UAb =3
MI1ZUHO =15 5074 HH Hi# CUE N =1
5073 ME XIE wWN 84T 52
5071 FE hiE 1497 493 =2
3 M B = 3357 =X HE YN Eh THE =
Jy%3937 =15 3361  EH B #7497 +u% =1
3359 HE X% Bh) 5 Axh =2
3360 ME RX th/ 98 4 =2
4 RAOHHE X 9073 WwE BB Wi W3 =3
4544 ) =R 9075 BX HH YYAL 19’ =
294 RE #R#Ek 't 73% =
9074 INEF HE WAVEVE =2
5 IL—TILFER BE XK 9113 HER EiE 7Y i =1
W=TWh" 94y =15 9112 A EF M AVET =3
9114 MLt X 5791 eob =1
9111 WEE 1= A VAL =3
6 FEBRKXM F OE 3181 WWAN @£ Y0¥ 44t =3
SHODAI =15 3184 IWAREZ A YIEh M/AF =2
3180 WU FHF|sE 94 Yaa¥ =3
3185 Il BE 1Fh9 IHFh =1
7 i+ #MZE 3386 WHE X 947 e =2
79 =15 3382 RE RBA 79 F % =3
3385 A KEH 4 4 4xF =2
3384 Hf K& Ath LY =3
8 IHKSE itiEE 1003 B’ BE Ny 3v1% =3
s 419 =R 1004 E=&F ZIE e #47 =3
1009 1U#E EBIE 3=y h4Y 51
1007 FIL REE %Y FhED =2
9 P i 7035 Ty Ef STVEEELY)! =3
vt 439 = 7037 B# 3} N/B i AN =2
7036 EXR &R HZAT )3y =2
7034 F KE T 54 =3
Page: 2/17 Printing: 2016/08/20 11:37:21

SEIKO



% 8 4 M HASHFEREFHKABRRRE

LETHREERRT—IL

ARA—FYR B
#HHENo. 74 BF 800m ZJU—UYL— FE T# EiREcex 7:18.59
__ S50 7:23.02
KiEE  F—L4A B K& FE
i
RE i
0 TIE E E 6175 AH M 152 k1~ =3
[CHIAMA B 6178 FH B EZ N UN =2
6177 E2E BEX P74 44 52
6174 1% Z 50" F Enk &3
1 AIBER B K 3057 =H a4 39 =2
YIN Y4HT =R 3060 #HE 5 )Y 750 =1
3053 EFHF 32 174 Y3y =3
3056 =HE HtiE bhny 19% =2
2  EfEM = [ 9033 =EFH BEF 4935 a9 =
th* ¥75%h = 9034 R BX 797 194 =1
9031 BHh #Hth =3 49% =2
194 #5 iz 99y Y Y =2
3  FENE W AR 6047  {FiE 1 1M 7%5 =
Y AEVED ] = 6046 [HE &KX thy 194 =3
6044 FNHE EIT 74" Y1944 =
6043 Bl X VANV, =3
4 BAXHE R 4052  delh R ye an’ =3
bt VYAV =R 4057 ED X DA B4 =
4056 EE L3 74FA" 13 22
4053 {REEE 5 1+ Y39 =3
5 EHE m E 241 INE &R UM =2
7ty =15 3120 PE ANF N oagaq =3
3124 IRk % Y Yay =2
3126 il 3 Y Yay =2
6 HEBXH OB 6015 H# KE by 193 =3
K. Bunkyo B 6014 f=@H H5S 794 A9Ah =3
6018 U AR ¥4 ot =2
6016 hE =E Thy' v T 54 =2
7 BXS #MZE] 3395 KA 2 44" ko =2
¥ 419 = 3393 REIF #X ¥ 1954 =3
63 EJK Hih Y32® MEEA =2
3392 INE EE 0 W 23
8 Pl Il 6249  HERT BEX 9IL7 Y)1%% =2
D)k =R 6247 @Il & ZYh7 AhY =3
6248  EEHIR_ER hey 29y g =3
159  INKFRIFE TR Y MY =3
9  {EEFEMR w K 3029 M4t h%5 iy =1
#59v1939 =R 3030 AR SR a9 vty =1
3027 EHF ME TH DR~ =2
3028 Eﬁ@% pin IVE 9 Ehl =1

SEIKO Page: 3/7 Printing: 2016/08/20 11:37:23



% 8 4 M HASHFEREFHKABRRRE

LETHREERRT—IL

ARA—FYR B
#HHENo. 74 BF 800m ZJU—UYL— FE T# EiXEgsx 7:18.59
— KEcik  7:23.02
K F—LA m o= k& FE
i
448
0 PBIXKIALEE X 6103 22X AR ho¥ 1y =
VML VE! =R 6102 &% Gl /) yht =2
6101 e B 1Y) h4b =3
6100 FMA &F ThEd 19% =3
1 EEZEE = =B 9060 &H  F#H AR B E =3
$0°h 1Y =R 9062 %A R# DZAR B U =2
9064 {RiEE EF 1ty 19% =1
204  BE WL 94 WM =2
2 BEARFERS E E 6195 KH & STLAUED) =2
huhhan = 6193 5% Ei& #4 +#tn =3
6194 ZEHE HE 1Y 197 =3
6192 fE&fE EBA 743 ety =3
3 =i B W 2048 Rk 1&FH 1M 17 =1
pikY =Y 2046 MNEE IR I YRELIZ =2
2042 it B3 Thh3 nyh =3
2043 [ET E#L VEUMAEVz: =3
4 BEHEX % M 5050 &K Al YYSEY)E =3
1779 =R 5052 MNHE FEA 9FE Y% =3
5055 FEE =N e TNELYYs =1
5054 N H & 9T 7Y =2
b TEmR{ER B E 3095 RH BE 191 ThT% =2
N M =R 3098 HiE #HE A7 493 =2
3092 = s 7H0N ¥y 19b =3
3094 KB b5 nUMVRVED) =3
6 ZEEFE E E 6201 & ER $1% {44 =3
AVH HIY = 6202 JIdt  %niE %4 pEF =2
6203 Hf —3x ath 4y29 =
6199 mA BA Thh3 4t =3
1 BIAEM % E 3113 48 piry 4% a9 =
F)9939 =R 3116 PE  #ixE M) 9% =2
3117 NS g W ZEEVINA =
3114 KE X\ IATHT MY =3
8 EHBZ= #wmE| 3421 #EE WME 1M AR =3
gz =R 3425  fREE BEEX 1) 1394 =
3424 ARNIE & 955" % h4 22
3420 FH =KX t34 394 4 =3
9 BEX B E 3141 AR =® 07 Enk =2
LEE Ly = 3137 #@ 5 YA )39 =3
3140 &R e 4440 hY =3
3139 AXE FE tyy Ay b =3

SEIKO Page: 4/7 Printing: 2016/08/20 11:37:26



% 8 4 M HASHFEREFHKABRRRE

LETHREERRT—IL

A3—FJX b
#iNo. 74 BF 800m ZJU—UYL— FE T# EiREcex 7:18.59
— LECER  7:23.02
KE F—L4A m 8 k& FE
2R
b%8
0 (kEEXE 5 =B 9052  EE; B hey' n )4 =3
vy WVEUAD] =R 9050 “HE=E—ER M F44F09 =3
9051 /A # 4% =3
9054 #F  hi ) V% =2
1 i oA 4063 EiD HH® DESESIEUPN =3
Fa91y =Y 4066 FEO BHK ES"F 394 =3
4067 &Nl A 09 1938 =3
4068 )| i 87 Y 1y =3
2 FLIRXK® dtiEE 1016 #&H# =X 794 1954 =3
$yik” 0Ft4 =Y 1019 F#&k R£FE 1M vanv =2
1021 &2 |LiE hh5 =1
1018 e R K UED, =2
3 KEFERKS X B 6123 A0 #X 42073 bk =3
b4 = 6130 £H =£X 35 hq4 =1
6127 XE &4 1y ) 19% =2
6124 HAEX Tk 1 704 =3
4 HEFE E E 6223 R %A Y7782 FYh =3
Iy =X 6230 Eith EiEF VEVELEE VS =
6224 FINT FEA TAYE b =3
6219 B HBEE VALY, =3
5  #AEI KM wmEN 3364 FAR &t 715 19A7 =
VEVIPEUY) =R 3366 TN EEk 4F MY =
3367 IL)Il BEIE 45459 (7 =
3369 HIT Fk 1Eh Yoy =2
6 TEEKH X B 6157 FRB =& 543 7 4 =
045747 =Y 6158 H¥¥ #HE 1Y 19% =
6150 AW F— 1997 ad¥ =3
6152 FIHE 1&A HRE 19h =3
7 /MATIL a 4015 HE  # TVhT V% =3
Y)Y = 4017 thim B 1y oA =2
4016 UK EX YEF B9 =3
4014 #HEH —#t Y4 hA % =3
8 EEXF B 4033 AIE E L ER VY, =1
T thttT =R 4027 E% RBX ) v =3
4028 £H BS h44" F4h =3
4029 FEBANBERL $#4hF Ya9bq =2
9 X = B 6240 EBE# FEsh Y42 YAk =2
Y =15 6241 Bl B Wrh 7Yy 22
6242 RH @3 Y24 Hob =2
6243 @M AKX 4347 Y94 =2
Page: 5/7 Printing: 2016/08/20 11:37:28

SEIKO



% 8 4 M HASHFEREFHKABRRRE

LETHREERRT—IL

ARA—FYR B
#HHENo. 74 BF 800m ZJU—UYL— FE T# EiXEgsx 7:18.59
__ SE08  7:23.02
K F—LA m = k& FE
i
648
0 HEiLFp *x B 3013 K&t N ¥47 19Ak =3
VEVYLY =R 15 %ty EBF ¥ 19% =2
3015 HBFr =S 44 am Yagv =3
3017 ™HE ®A an EIb =
1 mERSY KT W AR 6030 ®=B #E3 493 4 b =2
KGN =R 6024 Bl E# Y31V T3 =3
6033 Wit 1&rt YyEb 29 51
6023  mFt E=# Thh3 4% =3
2 B HMZE| 412 8 HiE nh 4 bR =2
{17 = 3407  RKHEHFEXER 114 2509 =3
3413 FESEKEH L3h3 a940m =1
3405 HEF fE Th/ aaq =3
3 WxEE B! 3466 EIEBHBH ahny AR =
YEb] =15 3467 HRFEAEHER 1yn7 Yavsng =1
3462  fREE — 1M h2° ¥ =3
3463 &M T|X 17 Y395 4 =3
4 BXEWL B = 3300 IR & ¥ b7 =3
74y =R 3303 HH 1F# EVZ M A =3
3306 HH EH EV A EVY) =1
3299 Bz N A4th 14/ A% =3
5 dl E E 6185 EH =E£A P24 %3b =3
1Fh7 = 6186 HiFE BHX Thyht 4h73 =3
6189 oM EBE p) AV LE =2
6190 {ER [EifE 7905 593 =
6 £HE A 5108 #BH wHt Ihg eny =2
$3"vay =15 5101 B#E BC M 1Yz =3
5104 {RiE R¥ 1b) 297 =3
5107 BTE f#n hha" D) =
7 RAEXKHIM = M 9009 &M B L V] =2
$19v1919 =157 9008 EEFF f&EA N/ TAb =2
9003 KT H=E ¥4 Yagt =3
9006 =£JIl E#h sy RELYY) =
8  AMERR N 9100 &HAX & IVES Y3y =3
F19va9h" H4Y =R 9099 ED % PESESUED] =3
9097 X F2 th" Y Ftn 23
9096 TH Eth YEY B4Y =
9 XKEKEE X B 6082 FFH KR4E £3/ va9 =1
+3Y39393 =R 6078 FHL EH THYY tH% =3
6075 BH#E B bht D50 =3
6080 E%H v v/ b =2
Page: 6/7 Printing: 2016/08/20 11:37:30

SEIKO



¥ 8 A B HASEFEREFIEKKBERKRE
LETREERT—IL

A3—FJX b
#iNo. 74 BF 800m ZJU—UYL— FE T# EiREcex 7:18.59
— LECER  7:23.02
KE F—L4A m 8 k& FE
2R
748
0 HEH B = 32714 AR B fU9F h4b =3
Ly) = 3276 FTF Hth 13y YUY =2
32719 tkEE RE VIV =1
3213 tkEE KRE #hy b/ =3
1 HFRERXPE F A 5113 JIlEA Z 5 kok =
CHUKYO =X 5119 FHE #H#% 195 9573 =
5120 &2 TFi5 D8FAT Fal =
5115 HE J=X Thne Yanh =2
2 MfEER B R 3317 @A E2D) L3% hhw =3
VAV =15 3320 fBE EF 7HE 0 YU 4 =1
318 BR BEFE W yagaq =2
3321 =ik B3I MY vash =1
3 FREE % M 5023 IRHEH X8k ¥hy P+ =
tY19 = 5030 kil EH VR VA =1
5026 # IEA MY b =
5022 HmE i AR EV, =
4 2 Z A 5142 fME #RA TNy Gk =3
FA739 =R 5150 B BEA Y3 hub =
5146 LA X TYE U4 =
5143 WX &3} YEL Ab =3
5 HBRAHMEX B E 3074 KE EK PN IEVE] =3
$3914 =Y 3076 HF MFE bh 9% =2
3079 AE KIE VAWETEN =1
3073  FPBEKX 7Ant 194 =3
6 REE = E 5178  Zith #8% ¥ 9h° =3
73919 =Y 5179  XWu %= Ty bETH =3
5177  %ith H_RH ¥ My =3
5176 uAX @#XE IE VY =3
7 k=R X B 6112 f&E &ER vy R ZUEY] =3
BRYUH 94 = 6119 & A% 133 9% =)
6113 &Y =8 /2 s =2
6118 &= XM N Y1940y =1
8 MmEBEFE X B 6068 I FIK y VAKAVEDL. =
1970 H1Y =R 6069 = BEA NG TR =
6070 #& i Y4t 4fb =
6067 FH K& E39 4 42 =
9 N\EF B X 32600 FAHE RifE 18 1% =1
N9y =Y 3255 wWE N MVED) =3
3250 REWw R Y s =2
3254  FERE HES #4by 3973 =3

SEIKO Page: 7/7 Printing: 2016/08/20 11:37:33



